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(N.B.: Mediljm of answers can be one of the following :- Sanskrit, English, Marathi and Hindi)

Q.1 Choose the correct answer from the given alternatives (40)
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Q. 2 Write paragraphs on any three of the following —  (30)
TR W 1 (1)
1) R 2) yR TR - SRR 3) AR T

4) TR ) et aefreer |
Q. 3 — Answer any two of the following - (30)
IR fofd | (2 )
1) SEpUNET e TR 1Write an essay in Sanskrit on JGIH JTRY |

2) Critically appreciate TRIGHTET
TR e WY #ed |

3) Explain the T — theory of HECHITTE.
WeEalored WNGH  fdaad |

4) Describe the salient features of qieTed
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